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Section A
S. Marks | CO
No.
1. | Explain Constraint Satisfaction problems and its various 4 [CO1]
applications in Game theory.
2. | Define Resolution principle using appropriate example. 4 [CO2]
3. | Differentiate between monotonic and non-monotonic reasoning. [CO3]
4. | Discuss the MP model in brief. How this model is different from [CO4]
Perceptron model?
5. | Explain Expert System Shell in brief. 4 [COS5]
Section B
6. | Consider the following Production system: 10 [CO1]
There are two jugs, a 4-gallon one and a 3-gallon one. Neither
jug has any measuring markings on it. How can you get
exactly 2 gallons of water in the 4-gallon jug?
a) Identify the Start and Goal states and Production rules.
b) Draw the state-space search tree to find the first solution.
7. Explain the three classifications of ANNs based on their 10 [CO3]
functions. Describe each in brief.
8. Differentiate =~ between  Supervised, Reinforcement and 10 [CO4]
Unsupervised learning with the help of appropriate examples.
OR
Elaborate Rule-based learning in Al using suitable examples.
9. |a) Explain FOPL. 248 [CO2]

b) Consider A, B, C and D to be prepositional Symbols. Which
of these formulae are Tautologies? Show by using truth table
approach.

i.
ii.
iil.
iv.

(A->B AC)

(A-B) A (C—D)

(A—B) — (A—~B)

(AoB) © [(A—B) A (B—A)]




Section C

10. | Solve the following Cryptarithmetic Problem. Write Constraint 20 [CO1]
equations and show the steps in finding solution.
TWO
+TWO
FOUR
OR
Explain Min-Max Procedure. Solve the following problem using
Min-Max algorithm.
Max °
vin (®) ©)
Max ° e ° °
3 3 6 9 1 2 0 -1
11. a) Consider A, B, C and D to be propositional symbols. Using 10 [CO2]
the truth table, show that the following formula is Tautology
or not.
(~A>B)> (CVD)
b) Consider the following sentences and translate these | 10

sentences into First order predicate logic:
i.  There is a language, which is spoken by everyone in
this room.
ii.  Some person in this room speaks every language.
iii.  There is a person in this room who speaks English.
iv.  Every person in this room speaks either English or
Hindi but not both.
v.  No two persons in this room speak the same language.




